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











 
  BODMAS 

  'OF' 

 

  +  – 

Eg : –17, –5, 0, 1, 3, ……… 

 :  

(1) 

 0.3, 
7
5

 , –11.97, 0.03, 5

(2) I I = {…… –3, –2, –1, 
0, 1, 2, 3……..} 



 (1)  :  1, 2, 3, 4, 5, .... 

 (2)  :  –1, –2, –3, –4, –5, .... 

 (3)  :  0 

 

Ex.1  4, –4, 6, 1, b, n2

Sol.
1n1b2735

nb1644
1n1b0553

2

2

2





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 

Ex.2 '<', '>'  '=' 

  (i)  0        –2                 
  (ii)  –31       –21    
  (iii)  –3          8    
  (iv)  –7          7    
  (v)  11        –6    
  (vi)  3          3    
  (vii)  –1132       –2    
  (viii)  –1039       –2138  

Sol.  (i) > (ii) < (iii) < (iv) < (v) > 

(vi) = (vii) < (viii) > 

 1 : 

 2 : (i) 

 (ii) 

 3 :

 

Ex.3 

(i) 6  –9   (ii) –3  –4 

Sol. (i)  
 6 

–9  6  9 
–3 

6 –9  –3 
6 + (–9) = –3 

–9 
6 + (–9) –9 6 

–3 

 (ii) –3 

 –4  –3 – 3 
4 –7 

–7  (–3) + (–4) = –7 

 : 

Ex.4 
 :  

(i) –2 + 8 + (–9)  

  (ii) –2 + (–3) + (–5) 

Sol. (i) –2 + 8 + (–9) = –3  

(ii) –2 + (–3) + (–5) = –10 

– 5 

–10 –9 –8 –7 –6  –5  –4 –3 –2 –1  0    1     2    3    4     5    6    7    8     9   10 

– 3 
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7 – 2 = 5, 7 
2  5 

 1 :  

 2 :

 (i)  

(ii)  

 3 :

 

Ex.4  :  

(i) 4 – 8   

  (ii) – 5 – 4  

  (iii) – 3 – (–4)     

Sol.  (i) 
4 

8 

–6 –5   –4  –3 –2   –1   0   1   2    3    4    5   6

 8 4  8 
– 4 

 4 – 8 = –4.  

 (ii) –5 

4 

–10  –9  –8  –7  –6 –5  –4  –3 –2   –1   0   

 4  – 5  4 
–9 

 –5 – 4 = –9 

 (iii) 
–3 

–4 –3 
4 

 1 

 (–3) – (–4) = –3 + 4 = 1 

(iii) 

 –3 – (–4) = 1  –3 + 4 

 :

Eg. 465 – 739 465 + (–739) 

–  = – [
 – ] 
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( ) 

 

Ex.6 

Sol.  

S.No.

(i) 1500 m +

(ii) 0ºC 15°C – 

(iii) 500 m – 

(iv) + 

(v) – 

Ex.7 

(i) +9  (ii) –3  (iii) +8  (iv) –5 

Sol.     

Ex.8 

–10   –5    0      5     10   15   20   25   30    35   40   45   50

(i) 

  (ii) 

  (iii) 

Sol.  (i) –9°C ; –4°C ;  
6°C ; 7°C ;  
21°C ; 32°C; 

39°C  
  (ii)  48°C    (iii) 

Ex.9 

(i) –2 + 6 + (–7)   (ii) –6 + 8  
Sol.  (i) –2 + 6 + (–7) = – 3 

(ii) –6 + 8 = 2

Ex.10 

(i) –20  –40  (ii) –19  30 (iii) 45  –36    
Sol.  (i) –20 – (–40) = –20 + 40 = 20 

(ii) –19 – 30 = – 49 
  (iii) 45 – (–36) = 45 + 36 = 81 
Ex.11 

(i)  –15 8 

  (ii)   –7 
 –15 

?   
Sol.  (i) 8 + (–15) = –7 

(ii) –15 – (–7) = –8        

Ex.12 

(i) 0  5    (ii) –3  3 

  (iii) –8  –15  (iv) –40  – 32 

Sol.  
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(i) 0 & 5 1, 2, 3, 4 4, 3, 2, 1 

(ii) –3 & 3 –2, –1, 0, 1, 2 2, 1, 0, –1, –2 

(iii) –8 & –15 –14, –13, –12, 
–11, –10, –9 

–9, –10, –11, –
12, –13, –14 

(iv) –40 & –32 –39, –38, –37, 
–36, –35, –34, 
–33 

–33, –34, –35, 
–36, –37, –38, 
–39 

Ex.13 

+ 3 –4 0 –12 4 

–3      

–5      

4  0  –8     

7      

–19   –19   

–27      

17      

0      

Sol.      

+ 3 –4 0 –12 4 

–3 0 –7 –3 –15 1 

–5 –2 –9 –5 –17 –1 

4 7 0 4 –8 8 

7 10 3 7 –5 11 

–19 –16 –23 –19 –31 –15 

–27 –24 –31 –27 –39 –23 

17 20 13 17 5 21 

0 3 –4 0 –12 4 

Ex.14  (T)  (F) 

(i) 

  (ii) 

  (iii) 

  (iv) 

  (v) 

Sol.   (i) T 

(ii) F (
) 

  (iii) F (

) 

  (iv) T 

  (v) T  

Ex.15  (a)  (

)   

(i) 5 –1 –4
–5 –2 7
0 3 –3

(ii) 1 –10 0
–4 –3 –2
–6 4 –7

  (b) 

  (i) 0 4
1

–2

(ii) –5
–2
–6 1

Sol.  (a) (i) 5 –1 –4
–5 –2 7
0 3 –3

0 0 0

0
0
0

–60
No
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(ii) 1 –10 0
–4 –3 –2
–6 4 –7

–9 –9 –9

–9
–9
–9

–9–9
Yes   

(b) (i) 0 –1 4
5 1 –3

–2 3 2

(ii) –5 2 –3
0 –2 –4

–1 –6 1

Ex.16 1200 
2500 

Sol.  = 1200  

= 2500 



   = 2500 – 1200  
   = 1300 Ans.

Ex.17  (T)  (F) 

(i) 0 

  (ii) 

  (iii) 

  (iv) 0 

  (v) 

  (vi) 

  (vii) –1 

  (viii) 0 

  (ix) 

  (x) 

  (xi) 

  (xi)  a  b a < b 
 (b – a) 

Sol.  (i) F     (ii) T     (iii) T   

(iv) T     (v) T      (vi) F   

(vii) T      (viii) F     (ix) T    

  (x) T      (xi) T      (xii) T 

 (1)  

 (2)     ×   

 (3)     ×  

 (4)     × 

 (5)  

Eg.(i) 5 + 3 = 8 ( ),  –7 + 3 = –4 ( )     

Eg.(ii) 3 + 7 = 10 = 7 + 3,   4 – 5 = –1 & 5 – 4 = 1  

Eg.(iii) 




















15
969)71(,1055

5)32(
321

)2(1)97(1,1082
)53(2

 

Ex.18 

23, –3, 0, –1, 7, 10, 253, –497  

Sol.  

 :  
(i) 

  (ii) 
+  –  ( 0 

)  

  (iii) 
 –8, 8 

Ex.19 

(i)  –7  (ii)  –9 
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Sol.  (i) –9 + 2 = –4 + (–3) = –7 

(ii) 1 – 10 = 2 – 11 = –9  

Ex.20 

(i)  

  (ii) 

Sol.  (i)  –14 – (–5) = –9 ( ) 

(ii) (–11) – (–3) = –8 (  – 11  –3 
)  

Ex.21  : [–a – (–b)] – c –a – [–b – (c)] : 

  a = 3, b = 7, c = –9   

Sol.  LHS = [–a – (–b)] – c 

= [–3 – (–7)] – (–9) 

   = [–3 + 7] + 9  

   = 4 + 9 = 13 

  RHS = –a – [–b – (c)] 

   = – 3 – [– 7 – (–9)] 

   = – 3 – [– 7 + 9] 

   = – 3 – [2] = –5 

LHS RHS   

Ex.22 

a – (–b) = a + b  

a = 117, b = –112   
Sol.  LHS = a – (–b) 

= 117 – [– (–112)] 
   = 117 – (112) = 5   
  RHS = a + b 
   = 117 + (–112) 
   = 117 – 112 = 5 

LHS = RHS  

 (i) 

 (ii) 

 (iii) 

Eg. (i) 5 × 6 = 30 (ii) 7 × 9  = 63 
 (iii) 9 × 10 = 90  (iv) –3 × 1 = –3 
 (v) –7 × 9 = –63  (vi) –11 × 11 = –121 
 (vii)13 × –5 = – 65  
 (viii) 10 × –10 = –100 
 (ix) –40 × –20 = 800 
 (x) –5 × –1 = 5    



(+) × (+) = +  ×  = 

(–) × (+) = –  ×  = 

(+) × (–) = –   ×  = 

(–) × (–) = +  ×  = 

:  

(i)  

(ii) 

 (i) 

(ii) 

 (iii) 

 (iv) 1 

 (v) 

Eg. (i) 16 × 12 = 192 ( ) 

(ii) 17 × 10 = 170 = 10 × 17 ( ) 

(iii) )(
12020620)32(
120602)203(2








a, b, c 
 a × (b + c) = a × b + a × c 
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 (i) 7 × (2 + 5)          7 × 2 + 7 × 5 

           = 49                 = 14 + 35 = 49 

 7 × (2 + 5)      = 7 × 2 + 7 × 5 

 (ii) –2 (–3 + 1)            –2 × –3 + (–2) × (1)  

  = –2 (–2)                   = (–2) × (–3) + (–2) × 1 

  = –2 × –2        = 6 – 2 

  = 4     = 4   

 –2 × (–3 + 1) = –2 × (–3) + (–2) × (1) 

 (iii) 7 × (5 – 7)   7 × 5 – 7 × 7 

  = 7 × (–2)   = 35 – 49 
  = –14    = –14 

 7 × (5 – 7) = 7 × 5 – 7 × 7 

 :  ‘a’  1  0 
 0 

 Eg : 7 × 1 = 7,   –3 × 1 = –3,   9 × 0 = 0 

 

Ex.23 20 
 3 

–1 

(i)  11 

  (ii) 8 

Sol.  (i)  = 3 

 11  = 3 × 11 = 33 

 = –1 

 9 

  = –1 × 9 = –9 

 = 33 – 9 = 24 

 (ii)  = 3 

 7 = 3 × 7 = 21 

= 1 × –1 = –1 

= 21 – 1 = 20  

Ex.24  :

× –7 –6 5 4 

–7     

–6     

–5     

–4     

0     

Sol.  

× –7 –6 5 4 

–7 49 42 –35 –28 

–6 42 36 –30 –24 

–5 35 30 –25 –20 

–4 28 24 –20 –16 

0 0 0 0 0 

Ex.25 

(i) (7 + 9) × 10  7 + 9 × 10  

  (ii)  [(–4 – 6)] × (–2)  (–4) – 6 × –7  

Sol. (i) (7 + 9) × 10         7 + 9 × 10  

= 16 × 10 = 160    = 7 + 90 = 97 

     (BODMAS ) 

(7 + 9) × 10 > (7 + 9 × 10) 

 (ii) [(–4 – 6)] × (–2) = –10 × –2 = 20 

 (–4) – 6 × –7 = – 4 – 6 × –7  

      = – 4 + 42 = 38 

[(–4 – 6)] × –2 < (–4) – 6 × –7  
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Ex.26  a × (–1)  = –25, 'a' 
?       

Sol.  – a = – 25 a = 25   

a 

Ex.27 

(i) (–7) + 9 = 9 + (–7)        (a) 

  (ii) 6 + [3 + (–2)]     (b) 

   = [(6 + 3)] + (–2)  

  (iii) (–8) (–5) = (–5) (–8)   (c)  

  (iv) 4[5 × (–5)] = (4 × 5) (–5) (d) 

  (v) 7 × 0 = 0      (e)  

  (vi) 13 × 1 = 13     (f) 

Sol. (i) b (ii) e (iii) f  

(iv) d (v) c (vi) a 

 32 
–4 
– 4  32  –8 

Eg : 

             Ans 

 (i) 6 × 4 = 24        24 ÷ 4 = 6    

(ii) 8 × –5 = –40        –40 ÷ –5 = 8  

  (iii) –8 × 3 = –24  ÷ 3 = –8    –24 

  (iv) 7 × 5 = 35  35 ÷ = 7          5 

  (v) –6 × 4 = – 24  –24 ÷ = 4      –6 

  (vi) –8 × = –48 48 ÷ = –8      –6 

 (i) 

 (+) ÷ (+) = +  (–) ÷ (–) = +. 

 (ii) 

 (+) ÷ (–) = –  (–) ÷ (+) = –. 



 (1)  ( ) 

 (2) 

 (3) 

Eg :(i) 25 ÷ 5 = 5 ( ) 

  (ii) 20 ÷ 10 = 2 ( ) 

  (iii) 30 ÷ 7 ( ) 

  (iv) 20 ÷ 5 = 4  5 ÷ 20 
  (v) (36 ÷ 9) ÷ 2 = 4 ÷ 2 = 2 

    36 ÷ (9 ÷ 2) = 36 ÷ 
2
9

               = 
9
236  = 4 × 2 = 8 

 : 

 

Ex.28  –120  –30 

Sol.   ‘a’ 

 (a) (–30) = –120 

  a = –120 ÷ –30 = 40   Ans.

Ex.29  ( ) +4 
–2 

(i)  15 
40 
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  (ii) 5 
–16 

?            

Sol.  (i)  = 4 

 15 = 4 × 15 = 60 

 = 40 

= 40 – 60 = –20 

 = –2 

 = –20 ÷ –2 = 10 

 (ii)  5 = 5 × 4 = 20 

 = –16 

= –16 – 20 = –36 

= –2 

= –36 ÷ –2 = 18            

Ex.30 2 
50 

(i)  10 
45 

  (ii)  
80 

?      

Sol. (i)  = 2 

45 = 2 × 45 = 90 

 = 10, 

10 

+  = 

,    

 =  – 

        = (– 10 – 90) = –100 

        = – 10000 

      = – 10000 ÷ –50 

      = 200 

 (ii) 

 +  = 0 

 = – 

 80 

= 2 × 80  

   = 160  

 = 160 

 – 160  – 16000 

 = (–16000) ÷ 50  

  = 320 

 B  ( ) O  ‘  ’  D 
 M  A  S 



   ( ) 

     { } 

      [ ]  

       –  

 ( ), 
{ },  [ ].    

Eg. (i) )228(   8 ÷ 4  

(ii) 10 + [5 × {48 ÷ (2 × 4)}] 
= 10 + [5 × {48 ÷ 8}] 

   = 10 + [5 × 6] 
   = 10 + 30 = 40  Ans. 
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Eg. (i) 9  20 

9 
2
20 = 9 × 10 = 90 

  (ii) 213 

71213
3
1



 

Ex.31  : 57 – [28 – {16 + (5 – 13 )}]. 

Sol.  57 – [28 – {16 + (5 – 13 )}] 

= 57 – [28 – {16 + (5 – 2)}] [ ] 

  = 57 – [28 – {16 + 3}] 

      [ ] 

  = 57 – [28 – 19] 

      [ ] 

  = 57 – 9 = 48 

Ex.32  : (i) 7 – {13 – 2(4 of – 4)} 

(ii) 81  [59 – {7 × 8 + (13 – 2 of 5)}] 

Sol. (i) 7 – {13 – 2(4 of – 4)} 

= 7 – {13 – 2(4 × – 4)} 

  = 7 – {13 – 2(–16)} = 7 – {13 – (–32)} 

  = 7 – {13 +32} = 7 – 45 = – 38 

 (ii) 81  [59 – {7 × 8 + (13 – 2 of 5)}] 

  = 81 × [59 – {7 × 8 + (13 – 2 × 5)}] 

  = 81 × [59 – {7 × 8 + (13 – 10)}] 

  = 81 × [59 – {56 + 3}] 

  = 81 × [59 – 59] 

  = 81 × 0 = 0

Ex.33  :  

63 –  (–3)  }382{   ÷ 3{5 + (–2) (–1)} 

Sol.  63 –  (–3)  }382{   ÷ 3{5 + (–2) (–1)} 

= 63 – (–3)  {–2 – 5} ÷ 3{5 + (–2) (–1)}   

        [ ] 

  = 63 – (–3) {–2 – 5} ÷ 3 {5 + 2}   

         [(–2) (–1) = 2] 

  = 63 – (–3) {–7} ÷ 3 × 7 

             [ ] 

  = 63 + 3 × 1449637
3
7







 

Eg : | –27 | = 27, | –31 | = 31, | 29 | = 29, | 3 | = 3.   


